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mEE R ' WEER ikakakell
MEERS | y-v2gp) | B 8 ¥ | WAEERN |G-z | W & ¥ | M -4
¥R TEEY 100.0 100.0 100.0 100.0 100.0 100.0 100.0
8 100.7 99.7 102.7 100.3 98.9 102.3 99.9
9 102.4 101.9 110.7 100.8 99.5 106.4 101.3
10 99.3 98.8 105.5 98.9 98.0 105.2 102.2
11 101.4 99.4 107.3 101.8 99.8 105.8 102.0
¥ 11 1 g 84.4 83.2 89.8 98.9 96.5 101.5 102.3
2 A 80.6 80.0 83.4 101.3 99.2 104.8 101.9
3A 87.0 82.7 84.1 102.0 100.1 106.2 101.8
4 7 81.7 80.6 83.6 102.9 100.8 105.6 102.1
5A 79.7 78.9 82.2 100.8 98.8 103.7 102.5
6 8 135.4 126.5 138.2 101.1 98.8 105.8 101.8
TH 129.3 131.1 183.3 101.9 99.8 106.6 101.6
8 R 90.1 90.7 98.2 101.8 99.6 105.7 101.9
98 80.1 79.5 84.3 101.6 99.6 106.2 102.2
10 A 80.6 79.9 84.6 102.1 100.2 106.6 102.6
11 8 85.7 84.7 91.8 103.4 101.7 108.8 101.9
12 A| 202.7 194.4 213.8 104.0 102.4 108.7 101.0
(BEFEM3 0 ALLE) FIRTE=100
B & i 5 B & EFoTIRTIRS
mEE R WAt
MEEEA |rer-vrgp | B OB ¥ | WEEEN [y | B & %
ER T ¥y 100.0 100.0 100.0 100.0 100.0 100.0
8 101.8 101.7 104.0 101.3 100.5 103.5
9 104.8 104.7 112.2 102.0 101.0 107.0
10 102.2 100.9 108.3 100.7 99.0 107.6
11 103.5 101.4 110.7 102.8 100.7 108.6
¥ 115 1R 82.9 82.0 91.3 99.8 97.0 105.3
2R 78.6 77.3 84.3 101.1 98.7 107.6
38 84.6 79.7 84.1 101.9 99.9 108.1
41 80.1 78.3 83.9 103.1 100.7 107.7
5A 78.9 77.8 83.2 101.6 99.7 106.6
6 A8 141.9 134.2 147.8 102.6 100.4 108.5
7TH 139.6 142.6 163.5 103.2 101.2 109.6
8 B 91.9 92.4 99.6 103.3 101.4 109.2
9A 79.6 78.6 84.7 102.9 101.2 108.7
10 B 79.8 78.9 85.1 103.1 101.6 109.0
11 8 86.0 85.1 92.9 104.6 102.7 111.1
12 B 218.3 209.7 228.4 105.9 104.3 111.4
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